Resolucoes
J Capitulo7 G

Relacdes trigonométricas — Tangente de um arco
trigonométrico

d) tg240°=1tg60° =3
e) tg(-315°)=tg45°=1

f) tg120° = —tg 60° = —/3

9) tg150°=-tg30°= —?

h) tg(-300°) =tg 60°=+/3

02 R=2-)f~)5—2-1=0.'.R-S=0

1.3
03 cos 120° +sen 60° _ ot =\/§—1 2
4cos 30° +1g 60° 443 A Z 63

J3-1 3 3-43

63 3 18

04 C,A DB
a) cos 5240° = cos 200° = —cos 20°

5240°|360°

200° 14
b) sen 1200° = sen 120° = sen 60° =\/2§ = cos 30°

1200° [360°

120° 3
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c) sen (=210°) = sen 150° = sen 30° = %
—210° + 360° = 150°

&

tg 150° + 2 - sen 120° — cos 330°
-tg30°+2- g — cos 30°

3 3 2J3+6Y3-343 3
B

6 6
3 1
05) sen120° — cos 180° 5 '
tg 30° NE
3

\B3+2 F 3 3+23
2 A A2

ATIVIDADES PROPOSTAS

01) a) tg 900° = tg 180° = 0
900°|360°
720° 2
180°

b) tg (-540°) = tg (-180°) =tg 180° =0
540°|360°

360° 1
180°

) tg 1500° = tg 60° = /3

1500° [360°

1440° 4
60°

.60°
d) tg %—TE: tg 780° = tg 60° = /3

780°|360°
720° 2
60°

02 a) tg70°>tg760°  d) tg (-160°)>tg 128°
b) tg 21°> tg (-21°) e) tg0° =tg 400n

c) tg129° <tg 217° f) thOTn<tg(—16°)



TRIGONOMETRIA
3 5tz 6 n 2 3n

03) a) f(g)=1+tg> 10 S g+ tg L cos T =

2 5 3 7 6 3 2
b) 9(5)=5:>f(5)=1+t93=2 =3 tg300°+ & tg210° 4 2 cos 270° =
2) 4 4 4 5 7 3
%(tgéO" g tg30)+§~O=
04 tg’x=+3tgx=tgx=0=x=0ou x=mn 3 Lo
= — — -|—O:
ou tgx=\/§:>x=§ ou x=4?n 5 7 ( ]
n 4n 5t 8n d :—3\/—+ 2/5\/_:—21\/§+10\/§:
Soma—0+n+§+?=n+?—? ra 5 1, 35
RANE]
05 B 35

(2713) (311’.) (5712)
cos| — |+sen +tg =
3 2 4
=cos 120° +sen 270° + tg 225°=

=—(cos 60°) —1+(tg 45°) =
1 1
=+ 1=—
2 f+d 2

@ a) g 12 quadrante (+)

b) ST go quadrante (-)
3

ST 9

o) quadrante (-)

d) T g0 quadrante (-)

6
e) 4m 30 quadrante (+)
3
07) Pela condicdo dada, tem-se o seguinte:
x e [0, 2n]
t x—E
9%773
30°
210°

S ={30°, 210°}

08) A__£ _i
B=—\/_+\/—=O.-.A~B=O

09) Pela condicdo dada, tem-se o seguinte:
tgx =-1,x € [-2m, 2m]
3 _4350 315°= /"
4 4
T g0 45°=-T
4
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